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-;jfol.;l’“‘/(Weighted Average Cost of Capital) :ﬁ)df:l./»;!uﬁd%/d/oh}’“‘d}./?

-5y (Types) L3I (Cost of Capital) SNy

Source of Capital] Book Value Specific Cost of Capital (%)
Equity 10,00,000 18%
Preference 2,00,000 9%
Debt 18,00,000 10%

ou/d/(lnvestment) $/6-\~ Rs. 10,00,000 uﬁfﬂa@gt/dﬂ,yjd/fyg Ashoka Builders Ltd.

sz (Alternatives) bt & Ui LS sfefey o e Rs. 6,00,000 £ MNC

_éfpl’“‘f Profitability Index (PI) -<— 10% = (Cost of Capital) :fud;l./

-JU /u’ I Expected CFAT'sLu’ e

tax rate = 40%

Year CFAT
1 4,00,000
2 2,00,000
3 3,00,000
4 2,50,000
5 3,00,000

I.  100% Equity (6000 shares @ Rs. 100 each)
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Tax Rate = 40%

_éfpl’“‘f (Net Present Value) /352 s B su$el i f 5

18%)

-éfpl’“‘f Financial Indifference Point

Year

1

2

3

4

5

CFAT

1000

2000

3000

4000

5000

Initial Investment = Rs. 2500

Risk - free rate =

Risk - premium =

_érk”/(Market Price of Share) .p»j"d/ugu’ﬂugc/w.pthf Suraj Chemicals Ltd.

7%
5%

Earning per share

Dividend Payout

Cost of Capital

Rate of return

= Rs. 4
40%

15%

= 20%, 15%

_;:fdl.»““!f Gordon's Valuation Model
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Dividend u’giu"f_g% 10% = (Cost of Capital) :f/ud;l./u!ta EPS = Rs. 100 ¢ Dunhills Ltd  (10)

21 15%, 10% f Rate of Returns < /1 50% 3/ 100% F.e»%»* (Alternates) J:l}»éi Payout

- 5%
-;jfpl’“‘f (Market Price of Share) c—wgdﬂ}w/u“{ﬂéfdl:&'/ Walter's Valuation Model

~ S5k (Types) "L»’"!J"Q;LJ!?‘Q:I/Q?_ (Working Capital) 4§ (11)

1,20,000 units&if.,,e_é"}’“‘/(Working Capital Requirement)cu;/d;l.//b/z_u.d/;!r‘f“;‘_,/ (12)
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_e Fret L
Item per Unit Rs.
Raw Material Rs. 70
Direct Labour Rs. 30
Direct Overheads Rs. 50
Cost Price Rs. 150
Selling Price Rs.180

Raw material in stock = 1 month, Work in Progress = 1/2 month, Finished Goods = 1 month;
Credit Payment Period = 1 month, Debt Collection period = 2 months, Lag in wages = 1/2 month,
Cash in hand, = Rs. 40,000

—caz#(Alternates) B (3) EUL LUt et/ Rs, 50,00,000 U Standard Ltd  (13)

1) All equity (50000 shares @ Rs. 100 each)
2) Debt-Equity = 2:1
3) 30% Debt, 50% Equity & 20% Preference

Rate of interest on debt = 9%

Rate of interest on preference = 8%
Expected EBIT = Rs. 20,00,000
Tax rate = 40%

< Us» (Alternate) iz gt 1 £ EBIT-EPS

‘”&U&j{ (Importance) eI Ui ‘< Leaverage (a (14)

ng?.c;d:.‘%?kﬁi (4) /&gé/& (Inventory Management) . %165 & 3 (b
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